= o
A & 0 & 2 & Al
20188 &= =0l &t LBl H AIE
CONE
COREAN W 22
D AFEHE e ool E )
= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il Bl RE2
1,125,149 962
A T 2tel 975,496 A 14,602
A= &= 975,496 A 14,602
SEIMAN S 448,559 A 12,909
101 @14 dl 27,525 A 18,001
4 D12t ZE2XREES 27,525 A 18,001
OEX, AFSLHXEAMN AIG R 25,129
— o= 60,7403 x9H x37 20,227
— ZHAH| 2,000 x9H x37 +23| 1,332
—MEAZBESYH 386,000 » 14l 386
- =524 60,7403 x9H x5 2,734
— n Sl 50,0003 x9H 13 450
OEXN.A=EE 2HEA MEo2 EE 2,396
— =00z RE= 20,226,420& *4.5% 911
—HLBEE 23 20,226,420 *3. 12% 632
- 1228z RE= 20,226,420& x1.5% 304
—dHEEE RE3 20,226,420% *2.508% 508
— LI RAEEERES
615,000 x6.55% 41
201 L2l 215,881 N6, 156
01 At 22l 82,511 A7,000
Oget=&H| 80,691
—OCRAIOIME2IE JHEZIX FL (2NN B
#8) 237,000& +8CH +33] 5,688
—0CRLXIM E88 HEZelH A28 F2e(
EH S 98) 1,000,000& »12& 12,000
— XM DXAM AESE =2
500& *40,000A 20,000
— XM 2NN 252 FSE WA
50& *135,000A 6,750
— XA 23 dabHel R 7 27,053
- SEHAAM(SEZ) XA
46,6403 82 A% 12E 4,478
- NI AN 46,640 x4 A 128 2,239
- E8IIE MM 46,6403 x2208 A 10,261
A& E DX M 46,640 x8 A 128 4,478
fEESEE SEAXNA
46,6403 #1208 A 5,597
—NgA AR EL2LS HOIE M
100,000& 23] 200
— HElA g=2otl EHItE M=
50,000 * 1004 2 500
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ool MHEWH &2 (cHel ® Q)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
— MAtAl, RS XA 2 SH3tE W
50,0003 * 1004 & x2F *23| 2,000
— TN g2t EcHIE ME
50,000 *100H & 500
~ 2SN FHSH LY B2 S HUE M
200& =10, 0000H 2,000
—2NF3SA E FOH Xt JHeH 2=
g OME 00& =10, 0000H 2,000
—NELASEM E2 & U2 HH
200& =10, 0000H 2,000
ozg=¢ 1,820
LY PEEEE R
70,0003 x6H »23] 840
—JIRAARIRE BALY
70,000& +7H »23] 980
02 =224l 133,370 132,526 844
Oz22= & HMA 93,040
—A2AE XYM DIANLsEsE SIH
1,930& x28,000H 54,040
—ANEHMIXMN(HIR2) L SRAUHE 25
LEIRLEZ 300& *130,000A 39,000
OA4& &l =Xl 19,224
— U doNZeH RXE+H
114,000,000& *5%*1. 1 6,270
—NEANSR HLAAE SAE
235,515,280% *5%*1. 1 12,954
O&AIZ Jt&HZE =HAIAHE FXNE
1,075,000& »12& 12,900
ONYSE 2EHLR(ARS)AAE STE=>
149,200,000& *5%*1. 1 8,206
202 oddl 55,442 50,805 4,637
01 = LH o4 1l 55,442 50,805 4,637
OXNENEHE =& bl
210,800& x16H «12& 40,474
OFHSEHN "HNXZE A FE O]
210,800& x3H %43 2,530
OX&A H=8 245 d&s & X8 &4
210,800 x3H «7& 4,427
OEZEXNLANEZEANAE ALEX s &4
210,800& »2H x9& 3,795
OdGE =2 XA H20HM 2HI A
210,800& x20H 13| 4,216
204 AR A H| 62,400 62,400 0
03 EZ YA 62,400 62,400 0
ONSEEIER& 100,000& «52H » 128 62,400
301 L2 A F 1,490 1,490 0
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ool MHEWH &2 CER-D
SA - BB B () - MM - BES Ol &t o San HmEET
1MIIEBEAS 1,490 1,490 0
OXZN HdAEMNA ASA MZE 700&+700L 490
OX&AH SAEAX ZAH M=
100,000& 10 1,000
303 &3 7,000 7,000 0
01 Z&3 7,000 7,000 0
OZ=2, UMY 22 ZY3
40,000,000 x5%*23| 4,000
OEX, A=F= 2HMXZAM E&=
60,000,000& *5%* 13| 3,000
306 £ 3 16,023 14,122 1,901
01 &3 16,023 14,122 1,901
OXNENARH EAHS
ESH Z &M 106,815,175,000& x0.015% 16,023
308 XXM SOl A 62,798 58,088 4,710
10 B 2SUHUe3 &S A I 62,798 58,088 4,710
HE NLMEEANLE RAES 62,798
—NLNEBAMAE 2 37,586,000 14! 37,586
—SENYHNEEALE 2 (wetax)
19,045,000& 14! 19,045
— GNSEANLE 2 1,873,000 14 1,873
—20188 & XIgA EEs =& 2LEE 2
o 4,294,000 * 14! 4,294
gAEo S 31,288 35,229 A 3,941
201 Let2d] 30,548 30,548 0
01 At 22l 30,548 30,548 0
OgBt=&H| 25,428
— XIYA GIEY MBIE LR R
80& *40,000A 3,200
— XM A ER =2
80& 170,000 13,600
— A ASIIE SHHLI| AEE=E
11,0003 »5CH «12& 660
—HESg 2HIR(ARS) MSAER
356& 12,0004 4,272
—HNYEE ZELR(ARS) EXHSMS)AIE R
16.5& 24,0004 396
— HYSE AT (ARS) ABIHE 42
2203 15,000 3,300
OOtSH=2A EE 2IEY S M
200& x20,0000H 4,000
Oo2d+¢ 1,120
—gHESARE B T
70,0003 x8H 23| 1,120
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?2: UHFMHE == (&)
SA - BB B () - MM - BES Ol &t o San HmEET
405 XHoHF S HI 740 3,000 A 2,260
01 AL ESFH S 740 3,000 A2,260
OHIARE HLI| F 740,000 »1CH 740
Meze #X 275,522 282,173 A6,651
101 @124 dl 20,841 19,102 1,739
4 DIt Z2XREES 20,841 19,102 1,739
OMEXe HSEIX EX 20,841
—Jlas 60,7403 x 1 248 15,064
— ZHAY] 2,000 x2482 1 23| 992
=T Re= 417,600 14! 418
- &5 60,7403 x 1«52 3,159
— Sl 50,0003 x 18 «128 600
—Qlx=g 60,7403 x10 608
201 L2l 129,854 138,854 A 9,000
01 At 22l 31,864 31,864 0
Oget=&H| 31,864
— XA Mg g2kl EdtE(L) ME
50,0003 2000 2~ +23] 2,000
—SFE0NMN 7Y 46,6403 128t A 128 6,717
—288 S=0NAH 7Y
46,6403 128t A 128 6,717
— NN HgHR =8 =2 13,650
WagE SIIEE 28
2,000& «602H »23] * 2,880
sSlgg =2 1,200& 5024 123 720
MY 2 258 S04+
470,000& x152A 7,050
HALE L WA A2
3,000& =1,000A 3,000
—HENg BSEHIX 37 & =44
20,0003 242 480
— XM MR Heh x3 SE =2
2,000 35021 23| 1,400
— MY XNHSE AESEF L
10,000& *90CH 900
02 =224l 97,990 106,990 A 9,000
O=2323 & HA 92,710
~ XA HEDXA SRS 2a Aue
= 300& 150,000 45,000
XA MR SEF Y2 SISBE
1,930& +1,8508 x12& 42,846
— KNEA M Mt & HALF WDSX
N g8 SIRE= 1,930& 21024+ 12& 4,864
OAl& &l Xl 5,280
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M UM HE 2
Sl NFEWR =2 CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
S EEEEEI S EES
440,000& ~12& 5,280
202 04| 61,167 60,557 610
01 2L I 61,167 60,557 610
OX A BFMHAZE EAF L MM E4=0H|
20,0003 208 83| x12& 38,400
OXNEAH 222 Mg A= L HEM2
8= 210,800 9% x12& 22,767
301 LBt A= 2,700 2,700 0
11 JIEtE A2 2,700 2,700 0
O201 & 9 & 2ad| 2,700
— 20X ZHAQ FE= DA
270,000 = 10CH 2,700
303 ZA 2 35,000 35,000 0
01 LAZ 35,000 35,000 0
OXNSIAN My Hasoh 9x 221 ZTA
= 5,000& *3,000CH 15,000
OWHET XM Mg ALLAZ
000,000,000 *1/100 20,000
308 XX GHHM SO0l & 25,960 25,960 0]
10 212 SUHUSHE A XEAE AT Y| 25,960 25,960 0
ONMYE e et AXANAEY 2H
330,000& x12& 3,960
OAAZH H2¢: A2 AAE 29
22,000,000 x 14! 22,000
Mol =2 &= 60,248 57,028 3,220
201 Bt 15,978 15,978 0
01 AP 22| H| 15,978 15,978 0
Ogst=2H| 15,978
— 0IED| %=4&H| 220,000 =24l x40% 2,112
— 0= AR2E el 500,000& =24 CH 12,000
— N2 MAMDXAN 2L
46,640 x408F A 1,866
303 ZA 2 9,000 5,250 3,750
01 LAZ 9,000 5,250 3,750
ONEE el Z4 N3
500,000,000 *1/5%5% 5,000
OEF Al - & MY s XA AesE
ZAZ 40,000,000 *10% 4,000
308 XAHXIGH SO0l & 26,470 26,000 470
10 212 SUHUSHE A EAE AL Y| 26,470 26,000 470
ON2ELZEAALY 299 26,470,000& x 14! 26,470
405 KHoHFE S HI 8,800 8,800 0
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ool MEWY &2 CERED
SA - BB B () - MM - BES Ol &t o San HmEET
01 et ESFH S 8,800 8,800 0
OLzoE) WA 72 2,200,000 *4CH 8,800
OHE FEIFA T A 159,879 154,200 5,679
101 @144 dl 58,606 53,227 5,379
4 D12t ZE2XREES 58,606 53,227 5,379
OMNEFEIIAXZ AL ALH QIR 53,516
— o= 60,7403 *1H +230H S*31L 43,308
— ZHAH| 2,0003 x23H 312 +23] 2,852
—MEYZBHLY 617,0002 *14! 617
- =54 60,7403 x23Y x4 5,589
— Sl 50,0003 x23H 18 1,150
OME=EDtA XA 212 EdE 5,090
— IRz RES 43,307,620& *4.5% 1,949
—d2AEEE BE= 43,307,620 x3.04% 1,317
- 1828z RE= 43,307,620& x1.5% 650
—MTHEEE RE3 43,307,620& *2.508% 1,087
~LUFIQY FHE 2YD
1,317,000& *6.55% 87
201 L2l 97,673 97,373 300
01 At 22l 94,253 93,953 300
Oger==8gH| 88,213
— g =8t SHMZE  200,000&*110 = 2,200
— R FeIIA AFBOAN BELLE
6,098& *23,000% *50% 70,127
~ZEFEIIN ZALME 242
70,0003 284 = 1,960
—HEFIA ANES AE442
7,620 *100= *50% 381
— N EEIH O|MNE I AELaR
25,4103 *100= *50% 1,271
—HEFEeIA I L SHZME gl
- 4,000& x150& 600
— TN TN EUR 2HBT 7
29,7003 20 A 594
—HE A 222 28 1102 %30,0000H 3,300
—HE=EIA ZAE SAISX 2
20,000 x5 A =128 1,200
—HEFEIA ZHESXE NH
60,0003 208 A 1,200
—HEFEIA AL X EEE SHIIHE AW
B 50,000& 1500 2 *23| 1,500
—OHEFSINATA EUS T 2
250,000& x4 1,000
—ZetdoINEeH HECXN P
960,000 »1CH »32] 2,880
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ool MHEWH &2 (cHel ® Q)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Oo=24d=+¢ 3,640
LY PEEEE IR
70,0003 x6H »23] 840
—STA RSANABAANE SAFS 2
= 70,0003 x10Y x4 3] 2,800
O= &l 2,400
— g IR AL =X A
8,000& «3&+103/ 108 2,400
02 =224l 3,420 3,420 0
02323 % HA 1,620
—HE=E01A JAME L 0 FE2L S
2 g8 soiEs 2,700& x600A 1,620
OA&ZEHl S X bl 1,800
—JigEe sEcH D20y RS
1,800, 000& 14 1,800
202 04l 3,600 3,600 0
01 = LH 4 Hi 3,600 3,600 0
OMNE=EIDIA T A O Hl
20,0003 x3F 52 «12& 3,600
HY2FZH (ME D) 149,653 134,089 15,564
Jl2ddl (MED) 149,653 134,089 15,564
Jl2dul (ME ) 149,653 134,089 15,564
201 L2l 65,863 65,815 48
01 At 22l 65,863 65,815 48
Oget=&H| 34,279
—JIZ2MNRE3H 100,000& x52H 5,200
— SAH |X&c 400,000& *2CH 62 4,800
—SASI 7Y 20,0003 26 A %128 6,240
—ZgH ¥ mA gd(EHRY )
237,000& x15CH 53] 17,775
—olgo Mg des) dgs
22,0003 «12& 264
O=gtl 31,584
—HEER =& AL
8,000 x47F x53| «12& 22,560
— M ortHsH X S20HAHI
8,000 «47F »23| «12& 9,024
202 044l 79,200 63,360 15,840
01 SLHOYI 79,200 63,360 15,840
OXEA HRF=& 2L
20,000 *33H x103| x12& 79,200
203 YR =2t 4,590 4,914 A 324
04 EASIYRFLH| 4,590 4,914 A 324
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Sl JI=2AH(MED)

SA-3H-S(3AH) - MRAS - BES Off &t 24
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